College of International Studies

Section Title: Italy Through Italian Film

Instructor: Simona Micali

Course: IAS 3000-025

Total Enrollment: 19 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.00000	4	0.81650		7	0.00	0.00	28.57	42.86	28.57	22.86	22.86
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	-0.35	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.14286	4	0.69007		7	0.00	0.00	14.29	57.14	28.57	37.14	37.14
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.19	346	1.16	2.31	12.43	32.95	51.16		
				Simona	a Micali								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.14286	4	0.37796		7	0.00	0.00	0.00	85.71	14.29	24.32	24.32
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-0.27	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.00000	4	0.57735		7	0.00	0.00	14.29	71.43	14.29	29.73	29.73
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.38	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	3.85714	4	0.37796		7	0.00	0.00	14.29	85.71	0.00	18.92	18.92
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.49	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Global Environmental Challenge

Course: IAS 3000-026

Instructor: Ola Fincke

Course Level: All Section Size: All

Total Enrollment: 16

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.28571	4	0.61125		14	0.00	0.00	7.14	57.14	35.71	45.71	45.71
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.01	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.07143	4	0.73005		14	0.00	0.00	21.43	50.00	28.57	28.57	28.57
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.27	346	1.16	2.31	12.43	32.95	51.16		
				Ola I	incke								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.57143	5	0.64621		14	0.00	0.00	7.14	28.57	64.29	67.57	67.57
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.22	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.35714	5	0.74495		14	0.00	0.00	14.29	35.71	50.00	45.95	45.95
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.01	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.14286	4	0.94926		14	0.00	7.14	14.29	35.71	42.86	40.54	40.54
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.18	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Dystopian World Cinema

Instructor: Maria Rueda

Course: IAS 3000-027

Total Enrollment: 5
Course Level: All
Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.66667	5	0.57735		3	0.00	0.00	0.00	33.33	66.67	80.00	80.00
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.48	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	5.00000	5	0.00000		3	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.81	346	1.16	2.31	12.43	32.95	51.16		
				Maria	Rueda								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	5.00000	5	0.00000		3	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.72	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.66667	5	0.57735		3	0.00	0.00	0.00	33.33	66.67	75.68	75.68
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.35	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	5.00000	5	0.00000		3	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.77	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Global Cities Instructor: Erika Robb Larkins

Course: IAS 3000-028

Total Enrollment: 4
Course Level: All
Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.75000	5	0.50000		4	0.00	0.00	0.00	25.00	75.00	82.86	82.86
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.59	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	5.00000	5	0.00000		4	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.81	346	1.16	2.31	12.43	32.95	51.16		
				Erika Rol	ob Larkins								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.75000	5	0.50000		4	0.00	0.00	0.00	25.00	75.00	83.78	83.78
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.43	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.75000	5	0.50000		4	0.00	0.00	0.00	25.00	75.00	81.08	81.08
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.44	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.66667	5	0.57735		3	0.00	0.00	0.00	33.33	66.67	81.08	81.08
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.40	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Brazil 360 Degrees Instructor: Caren Addis-Botelho

Course: IAS 3000-030

Total Enrollment: 6
Course Level: All
Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	5.00000	5	0.00000		5	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.90	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.80000	5	0.44721		5	0.00	0.00	0.00	20.00	80.00	85.71	85.71
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.57	346	1.16	2.31	12.43	32.95	51.16		
				Caren Add	dis-Botelh	0							
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	5.00000	5	0.00000		5	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.72	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	5.00000	5	0.00000		5	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.72	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	5.00000	5	0.00000		5	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.77	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: The Practice of Diplomacy

Total Enrollment: 21 Course Level: All Section Size: All

Instructor: Robert Andrew

Course: IAS 3003-002

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	3.90476	4	0.94365		21	4.76	0.00	19.05	52.38	23.81	17.14	17.14
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	-0.47	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.19048	4	0.98077		21	4.76	0.00	9.52	42.86	42.86	40.00	40.00
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.13	346	1.16	2.31	12.43	32.95	51.16		
				Robert	Andrew								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.09524	5	1.13599		21	4.76	4.76	14.29	28.57	47.62	21.62	21.62
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-0.33	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.19048	4	0.87287		21	0.00	4.76	14.29	38.10	42.86	35.14	35.14
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.17	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.19048	4	0.92839		21	4.76	0.00	4.76	52.38	38.10	43.24	43.24
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.12	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: National Security Policy

Course: IAS 3003-003

Course Level: All Section Size: All

Total Enrollment: 28

Instructor: John Fishel												;	Section Size: All
Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	3.68750	4	0.94648		16	0.00	6.25	43.75	25.00	25.00	14.29	14.29
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	-0.75	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	3.56250	4	1.03078		16	6.25	6.25	25.00	50.00	12.50	8.57	8.57
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.86	346	1.16	2.31	12.43	32.95	51.16		
				John	Fishel								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	3.87500	4	1.20416		16	6.25	6.25	18.75	31.25	37.50	10.81	10.81
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-0.58	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	3.43750	3	1.03078		16	0.00	18.75	37.50	25.00	18.75	5.41	5.41
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-1.00	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	3.56250	4	0.96393		16	6.25	0.00	37.50	43.75	12.50	5.41	5.41
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.82	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Religion & Society/Mid. East

Instructor: GERSHON LEWENTAL

Course: IAS 3003-006

Total Enrollment: 9
Course Level: All
Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.25000	4	0.70711		8	0.00	0.00	12.50	50.00	37.50	34.29	34.29
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	-0.04	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.00000	4	1.06904		8	0.00	12.50	12.50	37.50	37.50	25.71	25.71
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.36	346	1.16	2.31	12.43	32.95	51.16		
				GERSHON	LEWENT	AL							
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.37500	5	0.91613		8	0.00	0.00	25.00	12.50	62.50	40.54	40.54
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-0.00	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.12500	5	1.12599		8	0.00	12.50	12.50	25.00	50.00	32.43	32.43
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.25	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.12500	5	1.12599		8	0.00	12.50	12.50	25.00	50.00	37.84	37.84
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.20	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Course: IAS 3003-010 Section Title: Global Africa Instructor: Katie Hickerson Total Enrollment: 7 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.80000	5	0.44721		5	0.00	0.00	0.00	20.00	80.00	88.57	88.57
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.65	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.60000	5	0.54772		5	0.00	0.00	0.00	40.00	60.00	68.57	68.57
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.34	346	1.16	2.31	12.43	32.95	51.16		
				Katie Hi	ickerson								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.40000	5	0.89443		5	0.00	0.00	20.00	20.00	60.00	48.65	48.65
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.02	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.60000	5	0.54772		5	0.00	0.00	0.00	40.00	60.00	64.87	64.87
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.28	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.60000	5	0.54772		5	0.00	0.00	0.00	40.00	60.00	75.68	75.68
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.33	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Civil Military Relations

Instructor: AQIL SHAH

Course: IAS 3003-900

Total Enrollment: 8
Course Level: All
Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.28571	5	0.75593		7	0.00	0.00	14.29	42.86	42.86	45.71	45.71
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.01	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.42857	5	0.78680		7	0.00	0.00	14.29	28.57	57.14	54.29	54.29
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.14	346	1.16	2.31	12.43	32.95	51.16		
				AQIL	SHAH								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.28571	5	0.95119		7	0.00	0.00	28.57	14.29	57.14	29.73	29.73
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-0.11	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.57143	5	0.53452		7	0.00	0.00	0.00	42.86	57.14	62.16	62.16
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.25	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.42857	5	0.78680		7	0.00	0.00	14.29	28.57	57.14	62.16	62.16
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.14	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: East European Politics/Society

Course: IAS 3003-995

Instructor: Maksym Kovalov

4.30220

COLLEGE

Mean Median Standard Question Level ZScore Responses Percent #1 Percent #2 Percent #3 Percent #4 Percent #5 Dept Rank College Rank Response Response Deviation 8. Amount you learned in this class INDIVIDUAL 3.50000 4 2.12132 0.00 50.00 0.00 0.00 50.00 8.57 8.57 2 DEPARTMENT 4.28116 4 0.79557 345 0.29 2.03 13.62 37.39 46.67 COLLEGE 4.28116 4 0.79557 -0.98 345 0.29 2.03 13.62 37.39 46.67 11. Overall, this course was INDIVIDUAL 3.00000 3 0.00000 2 0.00 0.00 100.00 0.00 0.00 2.86 2.86 DEPARTMENT 4.30636 0.86061 346 1.16 2.31 12.43 32.95 51.16 5 COLLEGE 4.30636 5 0.86061 -1.52 346 1.16 2.31 12.43 32.95 51.16 Maksym Kovalov 4. Instructor's ability to encourage critical and independent thinking INDIVIDUAL 4.50000 0.70711 0.00 0.00 0.00 50.00 50.00 64.87 64.87 5 2 DEPARTMENT 4.37912 0.86193 364 0.55 3.57 11.26 26.65 57.97 COLLEGE 4.37912 0.86193 0.14 364 0.55 3.57 11.26 26.65 57.97 5 5. Instructor's ability to stimulate continuing interest in the subject matter INDIVIDUAL 3.00000 3 1.41421 2 0.00 50.00 0.00 50.00 0.00 2.70 2.70 DEPARTMENT 4.34795 0.90907 365 0.82 4.11 12.60 24.38 58.08 5 COLLEGE 4.34795 5 0.90907 -1.48 365 0.82 4.11 12.60 24.38 58.08 6. Overall instructor's teaching effectiveness was INDIVIDUAL 3.00000 1.41421 2 0.00 50.00 0.00 50.00 0.00 2.70 2.70 3 DEPARTMENT 4.30220 0.90111 364 1.10 3.85 11.81 30.22 53.02

-1.45

364

0.90111

Response Key

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

3.85

1.10

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average

11.81

30.22

53.02

Total Enrollment: 21

Course Level: All Section Size: All

1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Global Governance Instructor: Mark Raymond

Course: IAS 3053-001

Total Enrollment: 28 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.26087	4	0.68870		23	0.00	0.00	13.04	47.83	39.13	37.14	37.14
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	-0.03	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.30435	5	0.76484		23	0.00	0.00	17.39	34.78	47.83	48.57	48.57
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.00	346	1.16	2.31	12.43	32.95	51.16		
				Mark R	aymond								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.39130	5	0.94094		23	0.00	8.70	4.35	26.09	60.87	43.24	43.24
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.01	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.65217	5	0.71406		23	0.00	0.00	13.04	8.70	78.26	67.57	67.57
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.33	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.47826	5	0.66535		23	0.00	0.00	8.70	34.78	56.52	64.87	64.87
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.20	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Global Economic Relations

Total Enrollment: 32 Course Level: All

Instructor: Mitchell Smith

Course: IAS 3073-001

ons

Course Level: All

Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.25000	4	0.71635		20	0.00	0.00	15.00	45.00	40.00	34.29	34.29
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	-0.04	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.30000	5	0.86450		20	0.00	5.00	10.00	35.00	50.00	45.71	45.71
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.01	346	1.16	2.31	12.43	32.95	51.16		
				Mitche	ll Smith								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.35000	5	0.74516		20	0.00	0.00	15.00	35.00	50.00	37.84	37.84
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-0.03	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.25000	5	1.01955		20	0.00	10.00	10.00	25.00	55.00	40.54	40.54
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.11	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.40000	5	0.82078		20	0.00	5.00	5.00	35.00	55.00	56.76	56.76
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.11	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Chinese Politics

Course: IAS 3143-001

Instructors: Derek Steiger / Kevin Carrico

Total Enrollment: 31 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	3.64286	4	1.15073		14	0.00	21.43	21.43	28.57	28.57	11.43	11.43
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	-0.80	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	3.71429	4	1.26665		14	7.14	7.14	28.57	21.43	35.71	11.43	11.43
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.69	346	1.16	2.31	12.43	32.95	51.16		
				Derek	Steiger								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.21429	5	1.12171		14	0.00	14.29	7.14	21.43	57.14	27.03	27.03
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-0.19	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	3.92857	5	1.38477		14	7.14	14.29	7.14	21.43	50.00	18.92	18.92
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.46	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	3.64286	4	1.44686		14	14.29	7.14	14.29	28.57	35.71	10.81	10.81
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.73	364	1.10	3.85	11.81	30.22	53.02		
				Kevin	Carrico								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	3.78571	4	1.12171		14	0.00	14.29	28.57	21.43	35.71	8.11	8.11
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-0.69	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	3.64286	4	1.27745		14	7.14	7.14	35.71	14.29	35.71	10.81	10.81
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.78	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	3.64286	4	1.21574		14	0.00	21.43	28.57	14.29	35.71	10.81	10.81
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.73	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Course: IAS 3243-900 / IAS 5940-900 Section Title: Contemporary Europe Instructor: Jessica Pearson-Patel Total Enrollment: 34 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.28571	5	0.85449		28	0.00	3.57	14.29	32.14	50.00	45.71	45.71
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.01	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.68966	5	0.54139		29	0.00	0.00	3.45	24.14	72.41	80.00	80.00
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.45	346	1.16	2.31	12.43	32.95	51.16		
				Jessica Pe	arson-Pat	el							
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.68966	5	0.54139		29	0.00	0.00	3.45	24.14	72.41	78.38	78.38
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.36	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.72414	5	0.52757		29	0.00	0.00	3.45	20.69	75.86	78.38	78.38
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.41	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.72414	5	0.52757		29	0.00	0.00	3.45	20.69	75.86	86.49	86.49
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.47	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Modern Brazil Instructor: Erika Robb Larkins

Course: IAS 3353-029

Total Enrollment: 5
Course Level: All
Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.80000	5	0.44721		5	0.00	0.00	0.00	20.00	80.00	88.57	88.57
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.65	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	5.00000	5	0.00000		5	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.81	346	1.16	2.31	12.43	32.95	51.16		
				Erika Rol	bb Larkins								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	5.00000	5	0.00000		5	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.72	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.80000	5	0.44721		5	0.00	0.00	0.00	20.00	80.00	86.49	86.49
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.50	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.80000	5	0.44721		5	0.00	0.00	0.00	20.00	80.00	89.19	89.19
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.55	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Iran & Islam to 1800

Instructor: Afshin Marashi

Course: IAS 3413-001

Total Enrollment: 27 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.50000	5	0.52223		12	0.00	0.00	0.00	50.00	50.00	62.86	62.86
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.28	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.50000	5	0.52223		12	0.00	0.00	0.00	50.00	50.00	60.00	60.00
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.23	346	1.16	2.31	12.43	32.95	51.16		
				Afshin I	Marashi								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.41667	5	0.66856		12	0.00	0.00	8.33	41.67	50.00	51.35	51.35
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.04	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.50000	5	0.52223		12	0.00	0.00	0.00	50.00	50.00	56.76	56.76
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.17	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.66667	5	0.49237		12	0.00	0.00	0.00	33.33	66.67	81.08	81.08
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.40	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Managing US-China Relations

Total Enrollment: 10 Course Level: All Section Size: All

59.46

51.35

Instructor: Peter Gries

Course: IAS 3583-025

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.55556	5	0.52705		9	0.00	0.00	0.00	44.44	55.56	68.57	68.57
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.34	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.55556	5	0.52705		9	0.00	0.00	0.00	44.44	55.56	65.71	65.71
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.29	346	1.16	2.31	12.43	32.95	51.16		
				Peter	Gries								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.33333	5	0.70711		9	0.00	0.00	11.11	44.44	44.44	35.14	35.14
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		

-0.05

0.23

0.03

364

365

365

364

364

9

9

0.55

0.00

0.82

0.82

0.00

1.10

1.10

0.86193

0.52705

0.90907

0.90907

0.86603

0.90111

0.90111

Response Key

4. Instructor's ability to encourage critical and independent thinking

6. Overall instructor's teaching effectiveness was

5. Instructor's ability to stimulate continuing interest in the subject matter

5. Instructor's ability to stimulate continuing interest in the subject matter

COLLEGE

INDIVIDUAL

COLLEGE

COLLEGE

INDIVIDUAL

DEPARTMENT

DEPARTMENT

4.37912

4.55556

4.34795

4.34795

4.33333

4.30220

4.30220

5

5

5

5

5

- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

3.57

0.00

4.11

4.11

0.00

3.85

3.85

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average

11.26

0.00

12.60

12.60

22.22

11.81

11.81

26.65

44.44

24.38

24.38

22.22

30.22

30.22

57.97

55.56

58.08

58.08

55.56

53.02

53.02

59.46

51.35

1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Poverty-Inequality Middle East

Total Enrollment: 12 Course Level: All Section Size: All

Instructor: MANATA HASHEMI

Course: IAS 3683-001

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.33333	5	0.70711		9	0.00	0.00	11.11	44.44	44.44	51.43	51.43
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.07	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	3.88889	4	1.26930		9	11.11	0.00	11.11	44.44	33.33	20.00	20.00
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.49	346	1.16	2.31	12.43	32.95	51.16		
				MANATA	HASHEM	1							
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.44444	5	0.88192		9	0.00	0.00	22.22	11.11	66.67	59.46	59.46
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.08	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.33333	5	0.70711		9	0.00	0.00	11.11	44.44	44.44	43.24	43.24
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.02	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.22222	4	0.66667		9	0.00	0.00	11.11	55.56	33.33	45.95	45.95
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.09	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: South Asian Security

Instructor: AQIL SHAH

Course: IAS 3703-001

Total Enrollment: 20 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.85714	5	0.36314		14	0.00	0.00	0.00	14.29	85.71	91.43	91.43
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.72	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.71429	5	0.61125		14	0.00	0.00	7.14	14.29	78.57	82.86	82.86
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.47	346	1.16	2.31	12.43	32.95	51.16		
				AQIL	SHAH								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.64286	5	0.74495		14	0.00	0.00	14.29	7.14	78.57	72.97	72.97
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.31	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.85714	5	0.36314		14	0.00	0.00	0.00	14.29	85.71	89.19	89.19
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.56	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.71429	5	0.61125		14	0.00	0.00	7.14	14.29	78.57	83.78	83.78
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.46	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Race & Immigration in Europe

Instructor: Jessica Pearson-Patel

Course: IAS 3713-001

Total Enrollment: 28
Course Level: All
Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.21429	4	0.73822		28	0.00	0.00	17.86	42.86	39.29	28.57	28.57
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	-0.08	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.64286	5	0.62148		28	0.00	0.00	7.14	21.43	71.43	71.43	71.43
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.39	346	1.16	2.31	12.43	32.95	51.16		
				Jessica Pe	arson-Pat	el							
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.42857	5	0.83571		28	0.00	3.57	10.71	25.00	60.71	54.05	54.05
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.06	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.50000	5	0.92296		28	3.57	0.00	7.14	21.43	67.86	56.76	56.76
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.17	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.53571	5	0.69293		28	0.00	3.57	0.00	35.71	60.71	70.27	70.27
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.26	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Women & Gender Middle East

Instructor: MANATA HASHEMI

Course: IAS 3763-001

Total Enrollment: 17 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.46154	5	0.66023		13	0.00	0.00	7.69	38.46	53.85	57.14	57.14
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.23	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.53846	5	0.77625		13	0.00	0.00	15.38	15.38	69.23	62.86	62.86
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.27	346	1.16	2.31	12.43	32.95	51.16		
				MANATA	HASHEM	I							
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.66667	5	0.49237		12	0.00	0.00	0.00	33.33	66.67	75.68	75.68
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.33	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.76923	5	0.59914		13	0.00	0.00	7.69	7.69	84.62	83.78	83.78
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.46	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.53846	5	0.77625		13	0.00	0.00	15.38	15.38	69.23	72.97	72.97
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.26	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Intl Studies Internship

Instructor: Rebecca Cruise

Course: IAS 3910-002

Total Enrollment: 3 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	5.00000		0.00000		1	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.90	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	5.00000		0.00000		1	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.81	346	1.16	2.31	12.43	32.95	51.16		
				Rebecca	a Cruise								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	5.00000		0.00000		1	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.72	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	5.00000		0.00000		1	0.00	0.00	0.00	0.00	100.00	100.00	100.00
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.72	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.00000		0.00000		1	0.00	0.00	0.00	100.00	0.00	32.43	32.43
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.34	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Intl Studies Internship

Instructor: Kirk Duclaux

Course: IAS 3910-025

Total Enrollment: 4
Course Level: All
Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.50000	5	0.70711		2	0.00	0.00	0.00	50.00	50.00	62.86	62.86
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.28	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.50000	5	0.70711		2	0.00	0.00	0.00	50.00	50.00	60.00	60.00
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.23	346	1.16	2.31	12.43	32.95	51.16		
				Kirk D	uclaux								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.00000	4	1.41421		2	0.00	0.00	50.00	0.00	50.00	18.92	18.92
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-0.44	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.00000	4	1.41421		2	0.00	0.00	50.00	0.00	50.00	29.73	29.73
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.38	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.00000	4	1.41421		2	0.00	0.00	50.00	0.00	50.00	32.43	32.43
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.34	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Senior Capstone Seminar

Section Title: Senior Capstone Semina
Instructor: Miriam Gross

Course: IAS 4013-001

Total Enrollment: 14 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.45455	5	0.82020		11	0.00	0.00	18.18	18.18	63.64	54.29	54.29
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.22	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.27273	5	1.00905		11	0.00	9.09	9.09	27.27	54.55	42.86	42.86
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.04	346	1.16	2.31	12.43	32.95	51.16		
				Mirian	Gross								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.72727	5	0.46710		11	0.00	0.00	0.00	27.27	72.73	81.08	81.08
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.40	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.45455	5	1.03573		11	0.00	9.09	9.09	9.09	72.73	51.35	51.35
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.12	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.36364	5	0.80904		11	0.00	0.00	18.18	27.27	54.55	54.05	54.05
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.07	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Senior Capstone Seminar

Course: IAS 4013-003

Instructor: Afshin Marashi Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.00000	4	1.05409		10	0.00	10.00	20.00	30.00	40.00	22.86	22.86
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	-0.35	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	3.80000	4	1.31656		10	0.00	20.00	30.00	0.00	50.00	17.14	17.14
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.59	346	1.16	2.31	12.43	32.95	51.16		
				Afshin i	Marashi								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	3.90000	5	1.28668		10	0.00	20.00	20.00	10.00	50.00	13.51	13.51
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-0.56	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	3.90000	5	1.28668		10	0.00	20.00	20.00	10.00	50.00	16.22	16.22
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.49	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	3.90000	5	1.28668		10	0.00	20.00	20.00	10.00	50.00	21.62	21.62
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.45	364	1.10	3.85	11.81	30.22	53.02		

Response Key

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average

Total Enrollment: 22

Course Level: All

1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Senior Capstone Seminar

Total Enrollment: 11 Course Level: All Section Size: All

Instructor: Bo Kong

Course: IAS 4013-004

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.66667	5	0.70711		9	0.00	0.00	11.11	11.11	77.78	80.00	80.00
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.48	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.33333	5	0.86603		9	0.00	0.00	22.22	22.22	55.56	51.43	51.43
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.03	346	1.16	2.31	12.43	32.95	51.16		
				Bo I	Kong								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.44444	5	0.72648		9	0.00	0.00	11.11	33.33	55.56	59.46	59.46
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.08	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.44444	5	0.88192		9	0.00	0.00	22.22	11.11	66.67	48.65	48.65
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.11	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.33333	5	1.00000		9	0.00	0.00	33.33	0.00	66.67	51.35	51.35
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.03	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Latin American Left Instructor: James Cane Carrasco

Course: IAS 4523-001 / HIST 4523-001

Total Enrollment: 18 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.55556	5	0.72648		9	0.00	0.00	11.11	22.22	66.67	68.57	68.57
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.34	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.11111	4	0.78174		9	0.00	0.00	22.22	44.44	33.33	34.29	34.29
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.23	346	1.16	2.31	12.43	32.95	51.16		
				James Car	ne Carraso	co							
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.33333	5	0.86603		9	0.00	0.00	22.22	22.22	55.56	35.14	35.14
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-0.05	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.66667	5	0.70711		9	0.00	0.00	11.11	11.11	77.78	75.68	75.68
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.35	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.11111	5	1.16667		9	0.00	11.11	22.22	11.11	55.56	35.14	35.14
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.21	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Latin American Intl Relations

Instructor: Alain Mcpherson

Course: IAS 5353-995

Total Enrollment: 8 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.66667	5	0.51640		6	0.00	0.00	0.00	33.33	66.67	80.00	80.00
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.48	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.66667	5	0.51640		6	0.00	0.00	0.00	33.33	66.67	77.14	77.14
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	0.42	346	1.16	2.31	12.43	32.95	51.16		
				Alain Mo	pherson								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.50000	5	0.83666		6	0.00	0.00	16.67	16.67	66.67	64.87	64.87
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.14	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.66667	5	0.81650		6	0.00	0.00	16.67	0.00	83.33	75.68	75.68
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	0.35	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.50000	5	0.83666		6	0.00	0.00	16.67	16.67	66.67	67.57	67.57
ů .	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.22	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Theory/Practice Intl Politics

Course: IAS 5503-001

Total Enrollment: 12 Course Level: All

Instructor: Mark Raymond Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.33333	4	0.49237		12	0.00	0.00	0.00	66.67	33.33	51.43	51.43
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	0.07	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.08333	4	0.66856		12	0.00	0.00	16.67	58.33	25.00	31.43	31.43
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.26	346	1.16	2.31	12.43	32.95	51.16		
				Mark Ra	aymond								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.58333	5	0.90034		12	0.00	8.33	0.00	16.67	75.00	70.27	70.27
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.24	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.00000	4	0.73855		12	0.00	0.00	25.00	50.00	25.00	29.73	29.73
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.38	365	0.82	4.11	12.60	24.38	58.08		
Overall instructor's teaching effectiveness was	INDIVIDUAL	4.41667	5	0.66856		12	0.00	0.00	8.33	41.67	50.00	59.46	59.46
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	0.13	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Global Political Economy Instructors: Robin Grier / Mitchell Smith

Course: IAS 5523-001

Total Enrollment: 8
Course Level: All
Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	4.20000	5	0.83666		5	0.00	0.00	20.00	40.00	40.00	25.71	25.71
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	-0.10	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	4.00000	4	0.70711		5	0.00	0.00	20.00	60.00	20.00	25.71	25.71
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.36	346	1.16	2.31	12.43	32.95	51.16		
				Robin	Grier								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.00000	4	0.70711		5	0.00	0.00	20.00	60.00	20.00	18.92	18.92
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-0.44	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.00000	4	0.70711		5	0.00	0.00	20.00	60.00	20.00	29.73	29.73
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.38	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.00000	4	0.70711		5	0.00	0.00	20.00	60.00	20.00	32.43	32.43
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.34	364	1.10	3.85	11.81	30.22	53.02		
				Mitche	ll Smith								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	4.40000	5	0.54772		5	0.00	0.00	0.00	60.00	40.00	48.65	48.65
, , , , , , , , , , , , , , , , , , , ,	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	0.02	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	4.20000	5	0.83666		5	0.00	0.00	20.00	40.00	40.00	37.84	37.84
,	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.16	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	4.00000	4	0.70711		5	0.00	0.00	20.00	60.00	20.00	32.43	32.43
•	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.34	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Global Political Turbulence

Instructor: Suzette Grillot

Course: IAS 5902-995

Total Enrollment: 6 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	3.50000	4	0.57735		4	0.00	0.00	50.00	50.00	0.00	8.57	8.57
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	-0.98	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	3.50000	4	1.00000		4	0.00	25.00	0.00	75.00	0.00	5.71	5.71
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.94	346	1.16	2.31	12.43	32.95	51.16		
				Suzette	e Grillot								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	3.25000	4	0.95743		4	0.00	25.00	25.00	50.00	0.00	2.70	2.70
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-1.31	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	3.75000	4	1.50000		4	0.00	25.00	25.00	0.00	50.00	13.51	13.51
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.66	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	3.75000	4	1.50000		4	0.00	25.00	25.00	0.00	50.00	16.22	16.22
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.61	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent

College of International Studies

Section Title: Internat'l Law & Organizations

Instructor: Eric Heinze

Course: IAS 5940-001

Total Enrollment: 6 Course Level: All Section Size: All

Question	Level	Mean Response	Median Response	Standard Deviation	ZScore	Responses	Percent #1	Percent #2	Percent #3	Percent #4	Percent #5	Dept Rank	College Rank
8. Amount you learned in this class	INDIVIDUAL	3.50000	4	0.57735		4	0.00	0.00	50.00	50.00	0.00	8.57	8.57
	DEPARTMENT	4.28116	4	0.79557		345	0.29	2.03	13.62	37.39	46.67		
	COLLEGE	4.28116	4	0.79557	-0.98	345	0.29	2.03	13.62	37.39	46.67		
11. Overall, this course was	INDIVIDUAL	3.75000	4	0.50000		4	0.00	0.00	25.00	75.00	0.00	14.29	14.29
	DEPARTMENT	4.30636	5	0.86061		346	1.16	2.31	12.43	32.95	51.16		
	COLLEGE	4.30636	5	0.86061	-0.65	346	1.16	2.31	12.43	32.95	51.16		
				Eric F	leinze								
4. Instructor's ability to encourage critical and independent thinking	INDIVIDUAL	3.75000	4	0.50000		4	0.00	0.00	25.00	75.00	0.00	5.41	5.41
	DEPARTMENT	4.37912	5	0.86193		364	0.55	3.57	11.26	26.65	57.97		
	COLLEGE	4.37912	5	0.86193	-0.73	364	0.55	3.57	11.26	26.65	57.97		
5. Instructor's ability to stimulate continuing interest in the subject matter	INDIVIDUAL	3.50000	3	1.00000		4	0.00	0.00	75.00	0.00	25.00	8.11	8.11
	DEPARTMENT	4.34795	5	0.90907		365	0.82	4.11	12.60	24.38	58.08		
	COLLEGE	4.34795	5	0.90907	-0.93	365	0.82	4.11	12.60	24.38	58.08		
6. Overall instructor's teaching effectiveness was	INDIVIDUAL	3.75000	4	1.25831		4	0.00	25.00	0.00	50.00	25.00	16.22	16.22
	DEPARTMENT	4.30220	5	0.90111		364	1.10	3.85	11.81	30.22	53.02		
	COLLEGE	4.30220	5	0.90111	-0.61	364	1.10	3.85	11.81	30.22	53.02		

- 4. Instructor's ability to encourage critical and independent thinking
- 5. Instructor's ability to stimulate continuing interest in the subject matter
- 6. Overall instructor's teaching effectiveness was
- 8. Amount you learned in this class
- 11. Overall, this course was

- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent
- 1 = Far Below Average, 2 = Below Average, 3 = Average, 4 = Above Average, 5 = Far Above Average
- 1 = Poor, 2 = Fair, 3 = Good, 4 = Very Good, 5 = Excellent